


0502 (& 7 e 3r) — 64 B 3ap s F & i g ?

P4

4ftﬁﬁ® i ix
5 75 %
L1 2 F & 23R
L b3 1.2 7 % B3 o e bl o
P. 170 1.3 # ehx R
. F 1.4 riigeenx F Bmigrg & gt #
P. 173 2.1 ARt F ezt A AR F A
2. BR{I Fehp FHiplE AL
2.2 w4 Eagg k2 -




0502 (& Zenidh3r) — 64 B 3cdp 5 1 g vl 9

64 # FAp 2 1+ F g b 9

FHFR ,

% %% EIg- R 3x
P. 170 AETTErE

~ o1 1. +#ehg R 1.2} & 13 % crde Rz b B

- AP TR
IR Y

1184 328

L1173 # %l @ 3 4FFdt 3

1.1.2.3 2573 T
1.1.3 3Rt %
1.1.3.1 2.4 e
1132 H b3 g engligd > Favehd F4 o
LZ’wﬁimmL&@mM% APrzRaETE > AREAREH e
1.2.1 % %14 & 275 Bdd 2
LZZ&&uﬁw#gmﬁii
1.2.3 5+ & » B350 $ 4 d3eh
L2318 Ry 4 %A S lgd o /b s Ly 4 p &% 4 AUk
1.2.3.2% " m e - #eh=foa i
1'2'43'1‘?—&157&&’%%“’1&“}&—’3’75_1?_11':]"3# A7 # P Rk &
1.2.5° KM 283+ 3
1.3 #Fenx 7 R
1.3.1 b3 = B =LAz
L3 11 fI= Eahens = % > g4 B aig
1.3. 1.2 &% &4 B i~ 48X
1.3.1.3 4 p &x 83 Feng b - =
1.3.2 & x e0x 3 > -FIS-'ﬁ EFFERAY F




0502 (I 12 et ) — 64 @ 4cdp 2+ 3 g 4ng ?
L3218 BT x> B w2 h- g-ochgfididp
1.3.2. 11 sifr Beza » A e L TE A
1.3.2.1.24c% 423 A A5 452 % > p 1 G T4LE= 9 > #
l.4 i genx F BRFEFE L Kkt 3

1.4 1 %k2 vkent 3 - B3P f|x 4
1.4. 238 % et % - 3B 4
1.4.35 R Kehr F - 3ibkent p X 3

ok
%
EIEY
[

5 5 S A

P. 172 2.1 R A AR PR E
~ # 2. BRE Fehg2 FHhgd A

P.173 2.9 1 H4 Ay hd 2 -

2. W R H I F ehg i
2.1 R A RAPE I EFT S
2.1.1 Bdip iz 2% Hd 3R chE 4 o 5 Rigord o
2.2 v % 4 {‘-iﬁﬂx’:‘i—
221} 3 RFABFF i 4 >4 AT L2 RAARRAES
2.2.2 % 3 C gk
2,221 438 PEI R P TR AUREIR 0 A 8P AR RS
2.2.2.2 %R A MeAvERT L X B AgEp P ¥ MR A ko
2232 R2peh- o EH eI F (TP LABEIHIL)EP RE G
Fidx o oq gt




0502 (& Zenitdr) — 64 #cap 5 F F a3 fevf ?
212>
o Fm AR P
1. Bojp 2 2Kt F W2
FHUEAROIFERFLEHLE IR F?

2.
3. WEKAMMEIALF GG FHR?
4.

AEmit RS B RA 2 -89




